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Syllabus for AFM-IV

1. Introduction to Company Account.

2. Issue of Debentures.                    

3. Redemption of Preferences shares.

4. Redemption of Debentures

5. Profit prior to Incorporation.   



Redemption of Debentures

•Redeem means to pay back

• Types of Debentures

1. Redeemable Debentures ( redeem at specific future 
date)

2. Irredeemable debentures( redeem on wound up)





Redemption of Debentures By Conversion

1. Amount due to debentureholder

• Debentures(old)A/c ............Dr.             
To Debentureholder A/c.

2. Conversion by new issue at par.

• Debentureholder A/c .........Dr

To Equity share capital

To Preferences share capital

.   To Debentures (new)

3 Conversion by new issue at 
premium.

• Debentureholder A/c .........Dr

To Equity share capital

To Preferences share capital

To Debentures (new)

To Securities Premium A/c

4.Adjustment of Security Premium.

Security Premium A/c Dr

To Premium on Redemption A/c



• 5.Transfer to General Reserve

• Profit and loss Account.....Dr

To General Reserve Account





Journal Entries in the books of Company

1.  12%Debentures Account.................Dr.    4,00,000

• Premium on Redemption Account...Dr.         8,000

.                    To Debentureholder Account.........       4,08,000

{Being Amount due to debentureholder at a premium@2%}

2.   Debentureholder Account................Dr.   1,74,420

.                   To 8%Cum.Preference share capital A/c    1,55,040

To Securities Premium Account.                      19,380

{Being 12%Debentureholder converted into Pref shares}



3.  Debentureholder Account...........Dr.  1,46,880

Discount on issues A/c ..................Dr.      6,120

.    To 10%Debenture A/c.                                            1,53,000

{Being 12% Deb converted into 10%Deb at Discount₹ 4/-}

4. Debentureholder Account...........Dr.      86,700

.    To Bank A/c.                                                              86,700

{Being 12% Deb redeem by cash}



5. Securities Premium Account.......Dr 8,000

To Premium on Redemption A/c.             8,000

{Being Premium on Redemption adjusted}

6.Profit/loss Account...................Dr. 21,250

.      To General Reserve Account.                     21,250

{Being amount transferred to gen reserve A/c}



Working columns

12% Debentures.  ₹ 4,00,000.      Number of deb 4,00,000÷100= 4,000

Premium 4,000 × 2 = ₹ 8,000

Total. Redemption.  ₹ 4,08,000

Conversion to Pref shares ₹ 1,71,000 + 2% = ₹ 3,420 Amount 1,74,420

Number of pref shares 1,74,420÷ 22.50= 7,752 shares.

Amount of pref shares 7,752× 20=₹ 1,55,040

Securities Premium. 7,752 × 2.50= ₹ 19,380



• Conversion to 10% Deb ₹ 1,44,000 + 2% = ₹ 2,880 Amount 1,46,880

Number of deb 1,46,880÷ 96= 1,530 deb

Amount of deb 1,530 × 100 = ₹ 1,53,000

Discount on issue= 1,530 × 4 = 6,120

Redeem by cash 

Remaining to be redeemed by cash 4,00,000-1,71,000-1,44,000= 85,000

Premium 85,000+ 2%= 86,700

General Reserve. 85,000 × 25% = 21,250





Working columns

• 12% Debentures 5,000 × 100 = ₹ 5,00,000

• Add 5% Premium.                    = ₹ 25,000

• Amount of redemption.          = ₹ 5,25,000

• Option 1. 14% preferences shares of₹ 10 at ₹ 12.

• Number of Debentures 1,500 x 100 = ₹  1,50,000

• Add 5% Premium.                                 = ₹ 7,500

• Amount for conversion.                       = ₹ 1,57,500



• Numbers of preferences shares 1,57,500÷12 = 13,125 shares.

• Amount of preferences shares 13,125 x 10 = 1,31,250.

• Securities premium.                    13,125 x 2 = 26,250

• Option no 2. 15% Debentures of ₹ 100 at par.

• Number of Debentures 1,500 x 100 = ₹  1,50,000

• Add 5% Premium.                                 = ₹ 7,500

• Amount for conversion.                       = ₹ 1,57,500



• Option no 3.Redemption incash.

• Number of Debentures 2,000 x 100 = ₹  2,00,000

• Add 5% Premium.                                 = ₹ 10,000

• Amount for conversion.                       = ₹ 2,10,000

• General Reserve is calculated on cash 2,00,000 x 25% = 50,000 x 2= 
1,00,000



Journal Entries in the books of Beeta Ltd

1. 12% Debentures A/c.....................Dr 5,00,000

.     Premium on Redemption A/c........Dr 25,000

To Debentureholder A/c.                               5,25,000

{Being amount due on redemption at a premium@5%}

2. Debentureholder Account....................Dr 1,57,500

.               To 14% Preferences share capital A/c.                1,31,250

.                To Securities Premium A/c.                                     26,250

{Being 1,500deb converted into preferences at premium ₹2}



3. Debentureholder Account........Dr.    1,57,500

.            To 15% Debentures A/c.                             1,57,500

{Being 1,500 Deb converted into new 15% deb at par}

4. Debentureholder Account...........Dr.   2,10,000

.         To Bank A/c.                                                         2,10,000

{Being 2,000deb redeem for cash }



5. Securities premium A/c........Dr.     25,000

.        To Premium on Redemption A/c.             25,000

{ Being Premium amount adjusted}

6. Profit and loss Account......Dr 1,00,000

.        To General Reserve Account.                1,00,000

{Being amount transferred to gen reserve}





Working columns



Enron limited

• 8%Deb ₹ 6,00,000.                Number of Deb 6,00,000÷100= 6,000.

• Add premium 6,000 x 3 = 18,000.

• Amount of Redemption 6,00,000+ 18,000= 6,18,000.

• Option a) 10% pref shares 1,80,000 + 3% = 1,85,400

• Number of pref shares 1,85,400÷ 25 = 7,416 shares.

• Amount of pref shares 7,416 × 20= ₹ 1,48,320.

• Securities Premium 7,416 × 5 = ₹ 37,080



• Option b) 9% Deb ₹ 2,40,000 + 3% = ₹ 2,47,200

• Number of Deb 2,47,200 ÷ 96 = 2,575 deb

• Amountvof deb 2,575 × 96 = ₹ 2,47,200.

• Discount on deb 2,575 × 4 =₹ 10,300

• Optionc) Redeem for Cash

• Remaining Amt of deb 6,00,000- 1,80,000- 2,40,000= 1,80,000

• Redeem for cash 1,80,000 + 3% = ₹ 1,85,400

• General Reserve (out of profit) ₹ 1,80,000



1. 8% Debentures A/c.....................Dr 6,00,000

.     Premium on Redemption A/c........Dr 18,000

To Debentureholder A/c.                               6,18,000

{Being amount due on redemption at a premium@3%}

2. Debentureholder Account....................Dr 1,85,400

.               To 10% Preferences share capital A/c.                1,48,320

.                To Securities Premium A/c.                                     37,080

{Being 1,80,000deb converted into preferences at premium ₹5}



3.  Debentureholder Account...........Dr.    2,47,200

Discount on issues A/c ..................Dr.      10,300

.    To 9%Debenture A/c.                                            2,57,500

{Being 2,40,000Deb converted into 9%Deb at Discount₹ 4/-}

4. Debentureholder Account...........Dr.      1,85,400

.    To Bank A/c.                                                              1,85,400

{Being remaining Deb redeem by cash}



5. Securities premium A/c........Dr.     18,000

.        To Premium on Redemption A/c.             18,000

{ Being Premium amount adjusted}

6. Profit and loss Account......Dr 1,80,000

.        To General Reserve Account.                1,80,000

{Being amount transferred to gen reserve out of profit}



Redemption out of capital

1. Redemption at par 

• Debentures A /c..............Dr

.        To Debentureholder A/c        

2. Redemption at premium.

Debentures A /c .................Dr

Premium on redemption A/c.Dr

.   To Debentureholder A/c

3.Redemption at discount.

Debentures A /c..........Dr

.      To Debentureholder A /c

.      To Profit on Redemption A /c

4.Payment to Debentureholder

Debentureholder A/c ......Dr

.      To Bank A/c



Debentures issued at par premium and 
discount
1.Debenture issued at par.

Bank A/c...............................Dr

.         To Debentures A/c.

{Being debenture issued at par}

2.Debenture issued at premium

Bank A/c............................... Dr

To Debentures A/c

.       To Securities Premium A/c

{Being deb issued at premium}

3.Debenture issued at discount

Bank A/c.................................Dr

Discount A/c..........................Dr

.          To Debentures A/c.

{Being deb issued at discount}

4.Debenture Interest.

Deb Interest A/c................Dr

.         To Bank A/c

{Being deb interest paid}





Working columns

• Debentures issued at discount 

• 50,000 x 952 =4,76,00,000.

• 50,000 x 48 = 24,00,000

• 50,000 x 1,000 = 5,00,00,000

• Debentures interest 

• 5,00,00,000 x 15% = 75,00,000

• Discount to be write off in 5 
year

• 24,00,000x5/15= 8,00,000

• 24,00,000x4/15= 6,40,000

• 24,00,000x3/15= 4,80,000

• 24,00,000x2/15= 3,20,000

• 24,00,000x1/15= 1,60,000.



Journal Entries in the books of Bharat Bank 
limited
1. Bank A/c....................................................Dr.4,76,00,000

Discount on issue of Debentures A/ c........Dr. 24,00,000

To 15% Debentures A/ c.                              5,00,00,000

{Being 50,000 deb of ₹ 1,000 issued at ₹ 952}

2.Debenture interest A/c...........................Dr 75,00,000

.    To Bank A/ c.                                                                       75,00,000

{Being interest paid @15% to Debentureholder}



3. Profit & loss Account................................Dr83,00,000

.     To Debentures Interest Account                                          75,00,000

To Discount on issue of Debentures A/c.                           8,00,000

{Being Deb interest and Discount trf to P/ L A/ c}

4. 15% Debentures A /c...............................Dr 1,00,00,0000

To Bank A/ c.                                                                    1,00,00,000

{Being 1st Installment of ₹200 each on 50,000 deb repaid}



• 2nd year

1.Debenture interest A/c...........................Dr 60,00,000

.    To Bank A/ c.                                                                       60,00,000

{Being interest paid @15% to Debentureholder₹ 4,00,00,000}

2. Profit & loss Account................................Dr 66,40,000

.     To Debentures Interest Account                                          60,00,000

To Discount on issue of Debentures A/c.                           6,40,000

{Being Deb interest and Discount trf to P/ L A/ c}



3) 15% Debentures A /c...............................Dr 1,00,00,0000

To Bank A/ c.                                                                    1,00,00,000

{Being 2nd Installment of ₹200 each on 50,000 deb repaid}



Redemption out of profit
Debentures Redemption Reserve Account
• Transfer 25% - The companies Act 2013,section 71(4) together with 

companies (share capital and debenture)Rules 2014,require a 
company to create DRR of an amount atleast equal to 25% of 
nominal value of Debentures that are redeemable by it.

• Exempt – The following companies are exempt from creating DRR.

1. All India Financial Institutions (AIFI)regulated by RBI

2. Privately placed debenture by Non banking and other financial 
Institutions (LIC,UTI)



• Debentures Redemption Investment:

1. 15% - Every company require to maintain DRR on or before 30th

April each year, deposit or invest as the case may be,a sum shall 
not less than 15% of the amount of its debenture maturing during 
31st March next year.

2. Modes-Such investment shall be in anyone or more of the 
following.

• Deposit any scheduled bank,free charge or lien.

• In unencumbered Securities of central or any state government.



Journal Entries

1. Investment made 15% of face value of 
Debentures to be redeemed

• Deb Redemption Investment A/c.....Dr

.     To Bank A/c

2.Interest on investment

Bank A/c................................Dr

.        To Interest earned.

3.Investment Encashed.

Bank A /c.................................Dr.

To Deb Redemption Investment A/c

• 4.transfer profits from profit & loss 
Account.

• Profit & Loss Account......Dr

• General Reserve A/c ......Dr

.      To Deb Redemption Reserve A/c

5.On Redemption of Debentures.

Debentures A/c.....................Dr

.      To Debentureholder A/c

6. Payment to Debentureholder

Debentureholder A/c ...........Dr

.      To Bank A/c



7. When all debenture are 
redeemed.

Deb Redempt Reserve A/c.......Dr

.        To General Reserve A/c





In the books of Noida Toll Bridge Corporation
Journal Entries
• Date         Particular’s.                                        L f.            Dr.                 Cr

30th April Deb Redemp Investment A/c..Dr.            7,50,000

2014 To Bank A/c.                                                            7,50,000

.          {Being investment made 15% on 50,000deb of₹ 100}

31st March. Bank Account.....................Dr.               68,750

2015 To Interest Earned  A/c.                                               68,750

.           {Being Interest received on investment}

7,50,000 x 10% x 11/12}         



• Date         Particular’s.                                        L f.            Dr.                 Cr

• 31st March. Bank Account....................Dr.            8,18,750

2015                   To Deb Redempt investment A/c.                8,18,750 

{Being Investment Encashed}

31st March  Profit & Loss A/c.................Dr.             12,50,000

2015. To Deb Redemption Reserve A/c.                       12,50,000

.             {Being 25% of nominal value trf to DRR}

50,000 x 100 x 25% = 12,50,000}



• Date         Particular’s.                                        L f.            Dr.                 Cr

31st March.   Debentures A/c .................Dr.            50,00,000

.                          To Debentureholder A/c.                                    50,00,000

.                 {Being amount due on redemption}

31st March  Debentureholder A/c...........Dr.            50,00,000

.                         To Bank A/c.                                                            50,00,000

{ Being amount paid to Debentureholder}



• Date         Particular’s.                                        L f.            Dr.                 Cr

31st March. Deb Redemp Reserve A/c....Dr                12,50,000

.                       To General Reserve A/c.                                          12,50,000

.           {Being all deb redeemed through DRR}





Working columns

• 6,000 x 100 = 6,00,000

• Annual installment 6,00,000 ÷ 4= ₹ 1,50,000/-

• Transfer 15% on 1,50,000 = ₹ 22,500/-



In the books of Vasundhra Ltd

• Date.                    Particular’s.                             L/f.            Dr.              Cr

• 2012. Deb Redempt investment A/c ....Dr        22,500

• 30th April.          To Bank A/c.                                                       22,500

• .     { Being amt invested in govt securities 15% on 1,50,000}

• 2013.             Profit & loss Account..............Dr.            1,50,000

• 31st March          To Deb Redempt Reserve A/c.                          1,50,000

• { Being transfer of profit 25% of nominal value of deb issued}



• Date.                    Particular’s.                             L/f.            Dr.              Cr

• 31st March. 8% Debentures A/c ..............Dr.           1,50,000

.                           To Debentureholder Account.                           1,50,000

{ Being amount payable to Debentureholder}

31st March. Debentureholder Account.......Dr             1,50,000

.                       To Bank A/c.                                                                1,50,000

{ Being amount paid to Debentureholder}



• Date.                    Particular’s.                             L/f.            Dr.              Cr

• 31st March. 8% Debentures A/c ..............Dr.           1,50,000

2014.                    To Debentureholder Account.                           1,50,000

{ Being amount payable to Debentureholder}

31st March. Debentureholder Account.......Dr             1,50,000

.                       To Bank A/c.                                                                1,50,000

{ Being amount paid to Debentureholder}



• Date.                    Particular’s.                             L/f.            Dr.              Cr

• 31st March. 8% Debentures A/c ..............Dr.           1,50,000

2015                 To Debentureholder Account.                           1,50,000

{ Being amount payable to Debentureholder}

31st March. Debentureholder Account.......Dr             1,50,000

.                       To Bank A/c.                                                                1,50,000

{ Being amount paid to Debentureholder}



• Date.                    Particular’s.                             L/f.            Dr.              Cr

• 2016.      Bank Account.........................Dr.                22,500

• 31st Mar     To Deb Redempt investment A/c.                             22,500

• { Being investment Encashed}

• 31st March. 8% Debentures A/c ..............Dr.           1,50,000

.                          To Debentureholder Account.                           1,50,000

{ Being amount payable to Debentureholder}



• Date.                    Particular’s.                             L/f.            Dr.              Cr

31st March. Debentureholder Account.......Dr             1,50,000

.                       To Bank A/c.                                                                1,50,000

{ Being amount paid to Debentureholder}

31st March. Deb Redemp Reserve A/c....Dr                1,50,000

.                       To General Reserve A/c.                                          1,50,000

.           {Being all deb redeemed through DRR}



The End


